[bookmark: _GoBack]Directions:  Use the Examples to help you complete this station.  Print when ever necessary.STATION #5

[image: ]
Part 2
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Part 3: Show your work on a separate Sheet.  Be sure to number correctly and WRITE YOUR NAME.[image: ][image: ]Part 4:  Find “X” to balance the equation and write the property.
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Commutative Properties

Properties Example Setyour own example
Addition 243=3+2
Multiplication 2x3=3x2
Associative Properties
Properties Example Setyour own example
Addition 24BN =2 +3)+4

Multiplication

2x@x4H)=@x3) x4

Identity Properties
Properties Example Setyour own example
Addition 240=2

Multiplication 2x1=2

Inverse Properties

Properties Example Setyour own example
Addition 2+(-2)=0
1
Multiplication 2xg=1
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‘ Identity and Inverse Properties

Use appropriate '+ or’ x ' symbols to satisfy the equation. Identify the property used.

1) 8 1 =38 2) 12 (-12) = 0 |3 ¢ -
6
Property: Property: Property:
40 7 = 5)1[:] 5=25 6) —11 1 =0
Property: Property: Property:
7)—7@7:0 8)4D1=1 9 3 1=3
4
Property: Property: Property:

o )
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Identity Properties of Multiplication Name:
Determine which property of multipication is shown (Associative, Identity,
Distributive or Commutative).

1) (7x3)+(7x6)=7x3+6)

2) 1x4=4

3) 10x4=4x10

4) 4x7=7x4

5) (4x9)x3=4x(9x3)

6) 0x(7+4)=(0x7)+(0x4)

7)><(1><7)3><1)><7
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12) 1x(7x8)=(1x7)x8 -

13) 2x3)+(2x4)=2x(3+4) 1.

14) 2x(7x0)=2x7)x0 1

15) 3x6=6x3 is.

16) 2x1=2 ”

17) 0x(4+1)=(0x4)+(0x1) -

18) 1x7=7 .

19) 2x6=6x2 o
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Find the value of x to balance the equation. Identify the property used.

) 7+@+4)=(T+x)+4

Property:

2) x+6=6+5
x =

Property:

3) 8x5=5xx

Property:

4 11x(3%6)=(xx3)X6
x =

Property:

5) 94+x=12+9

6) (6Xx)X4=6X(8x4)

Property:





